Special Eurobarometer 517

Future of Europe

Table Annexes

Which of the following do you think are the best ways of ensuring your voice is heard by decision-makers at national level?

(MAX. 3 ANSWERS)
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Special Eurobarometer 517

Future of Europe

Which of the following do you think are the best ways of ensuring your voice is heard by decision-makers at national level? (MAX. 3

ANSWERS)

(%)
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Special Eurobarometer 517

Future of Europe

Which of the following do you think are the best ways of ensuring your voice is heard by decision-makers at EU level? (MAX. 3 ANSWERS)

(%)
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Special Eurobarometer 517

Future of Europe

Which of the following do you think are the best ways of ensuring your voice is heard by decision-makers at EU level? (MAX. 3 ANSWERS)

(%)
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Future of Europe

Special Eurobarometer 517
With whom would you like to discuss the future of the European Union? (MAX. 2 ANSWERS)

(%)
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Special Eurobarometer 517

Future of Europe

With whom would you like to discuss the future of the European Union? (MAX. 2 ANSWERS)

(%)
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Special Eurobarometer 517

Future of Europe

To what extent do you agree or disagree with each of the following statements?

QA4.1

EU citizens voice should be more taken into account for decisions relating to the future of Europe (%)
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Special Eurobarometer 517

Future of Europe

To what extent do you agree or disagree with each of the following statements?
There is still work to be done to strengthen democracy in the EU (%)
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Special Eurobarometer 517

Future of Europe

QA4.3 To what extent do you agree or disagree with each of the following statements?

There is still work to be done to protect democracy in the EU (%)
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Special Eurobarometer 517
Future of Europe

QA5.1  To what extent does each of the following statements correspond or not to your
opinion? You would like to have more of a say over important decisions
affecting:

Your local area (%)
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Special Eurobarometer 517
Future of Europe

QA5.2 To what extent does each of the following statements correspond or not to your
opinion? You would like to have more of a say over important decisions
affecting:

Your country as a whole (%)
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DK §= 41 41 13 4 1 82 17
DE m 36 42 14 6 2 78 20
EE o 29 39 20 8 4 68 28
E BB 44 41 11 2 2 85 13
EL = 32 40 19 9 0 72 28
ES = 42 33 13 10 2 75 23
FR BB 46 42 6 3 3 88 9
HR o 25 42 22 10 1 67 32
T BB 40 46 8 4 2 86 12
cY = 58 28 8 6 0 86 14
AV 49 35 10 3 3 84 13
LT [ 22 34 22 19 3 56 41
[V — 46 42 7 2 3 88 9
HU 27 50 17 5 1 77 22
MT I 49 30 10 8 3 79 18
NL o 31 50 17 1 1 81 18
AT o 37 43 13 6 1 80 19
PL o 26 45 17 9 3 71 26
PT ER 36 39 13 10 2 75 23
RO BB 35 40 17 7 1 75 24
Sl [+ 33 36 19 11 1 69 30
SK 39 47 7 5 2 86 12
Fl - 37 48 14 1 0 85 15
SE &= 35 49 12 2 2 84 14



Special Eurobarometer 517
Future of Europe

QA5.3 To what extent does each of the following statements correspond or not to your
opinion? You would like to have more of a say over important decisions
affecting:

The European Union as a whole (%)

T =
> g > 2
2 o) o > = " -
E @ 2 2 2 $ 2
= £ = = kv > <

s 3 2 € £ 3 Z
¢ fos § o RS

§_J Z
Fu27 27 43 18 9 3 70 27
BE B 30 47 18 4 1 77 22
BG == 25 38 16 13 8 63 29
CZ b 19 44 22 13 2 63 35
DK Em 57 44 22 5 2 71 27
DE H 27 39 22 9 3 66 31
EE == 16 34 27 16 7 50 43
IE i 34 42 17 3 4 76 20
L = 16 34 29 21 0 50 50
ES Eo 33 35 17 13 2 68 30
R BB 37 44 9 5 5 81 14
HR oo 15 40 31 12 2 55 43
T g1 28 47 15 6 4 75 21
cY = 39 31 17 12 1 70 29
LV 31 38 18 7 6 69 25
LT [ 10 31 30 25 4 41 55
LU — 39 43 11 4 3 82 15
HU o 16 50 24 8 2 66 32
MT "R 26 38 14 17 5 64 31
NL — 20 51 24 4 1 71 28
AT — 21 45 19 13 2 66 32
PL [ 15 46 22 12 5 61 34
PT E& 24 38 18 15 5 62 33
RO 11 26 39 23 9 3 65 32
SI G 25 36 23 15 1 61 38
SK  Em 26 50 12 8 4 76 20
Fl e 26 51 22 1 0 77 23
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Special Eurobarometer 517
Future of Europe

QA6 Have you recently read in the press, seen on the Internet or
on television or heard on the radio something about the
Conference on the Future of Europe?
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Special Eurobarometer 517
Future of Europe

QA7 Where have you seen, read or heard something about the Conference on the
Future of Europe? (MULTIPLE ANSWERS POSSIBLE)
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Special Eurobarometer 517
Future of Europe

QA8.1 For each of the following visual elements, please tell whether
you have already seen it in the past few months.
VISUAL 1 (%)
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Eu27 5 20 74 1 25
BE H1 7 19 73 1 26
BG 4 14 79 3 18
CZ  bm 3 21 74 2 24
DK Smm 5 12 83 0 17
DE N 6 18 75 1 24
EE — 5 20 71 4 25
IE | 6 14 78 2 20
EL : 4 16 79 1 20
ES . 7 22 71 0 29
FR B | 4 13 83 0 17
HR o 6 37 53 4 43
T BB 3 25 71 1 28
cYy = 12 27 57 4 39
LV 8 20 69 3 28
LT [ 6 22 70 2 28
LU 6 17 76 1 23
HU 7 32 60 1 39
MT * |} 10 27 60 3 37
NL 7 19 73 1 26
AT e 12 23 63 2 35
] I— 7 16 73 4 23
PT 7 18 71 4 25
RO B 3 26 69 2 29
Sl ¢ 10 28 61 1 38
SK 9 22 65 4 31
FI' o 3 26 71 0 29
SE am 7 17 74 2 24



Special Eurobarometer 517
Future of Europe

QA8.2 For each of the following visual elements, please tell whether
you have already seen it in the past few months.
VISUAL 2 (%)
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BE 11 4 17 78 1 21
BG = 2 14 81 3 16
CZ 3 19 76 2 22
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DE N 5 14 80 1 19
EE  — 3 20 72 5 23
E N 5 15 79 1 20
EL = 3 15 82 0 18
ES o 5 17 77 1 22
FR B 3 11 86 0 14
HR = 5 35 56 4 40
I 4 18 77 1 22
cy < 10 23 62 5 33
Ly - 6 16 75 3 22
LT 5 20 73 2 25
LU — 4 15 79 2 19
HU 6 31 62 1 37
MT  * I 9 17 70 4 26
NL o 3 13 83 1 16
AT =11 19 67 3 30
= I— 6 15 75 4 21
PT EA 7 15 73 5 22
RO 11 4 21 73 2 25
S| Gem 8 26 64 2 34
SK 8 23 65 4 31
FI' o 4 21 75 0 25
SE &= 2 17 79 2 19



Special Eurobarometer 517
Future of Europe

QA8.3 For each of the following visual elements, please tell whether
you have already seen it in the past few months.
VISUAL 3 (%)
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BG mm 4 14 79 3 18
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DE N 6 18 75 1 24
EE - 4 22 70 4 26
IE | 5 16 78 1 21
EL = 3 13 83 1 16
ES I 4 20 76 0 24
FR 11 4 13 82 1 17
HR == 4 31 62 3 35
T Bi 2 24 73 1 26
cy s 14 23 61 2 37
LV 7 21 71 1 28
LT 7 18 73 2 25
LU 8 15 74 3 23
HU ‘= 10 33 57 0 43
MT *B 16 20 62 2 36
| I p— 7 19 74 0 26
N R 7 23 66 4 30
PL 6 15 77 2 21
PT 5 19 73 3 24
RO 11 4 28 65 3 32
S| 8 24 67 1 32
SK 7 22 67 4 29
FI. o 3 21 76 0 24
SE Bm 5 18 76 1 23



Special Eurobarometer 517
Future of Europe

QA8.4 For each of the following visual elements, please tell whether
you have already seen it in the past few months.
VISUAL 4 (%)
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FR 11 3 10 85 2 13
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cy e 13 25 60 2 38
LV 9 21 69 1 30
LT 5 19 74 2 24
LU — 8 17 73 2 25
HU 9 34 56 1 43
MT Il 14 20 63 3 34
NL o 6 17 76 1 23
AT 9 22 64 5 31
PL 6 15 77 2 21
PT EA 7 19 71 3 26
RO 11 4 25 70 1 29
S| k. 6 27 65 2 33
SK 7 23 66 4 30
FI 4 22 74 0 26
SE Bm 4 18 76 2 22



Special Eurobarometer 517
Future of Europe

QA9.1A  The visual elements we have just shown are part of the communication campaign to advertise the Conference on the
Future of Europe. Regardless of whether you have seen it or not, do you think the following statement applies well or
not to this visual? Please use a scale from 1 to 7 where 1 means "applies very well" and 7 means "does not apply
well at all".

This visual is appealing and makes people willing to participate in the Conference VISUAL 1 (%)
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Special Eurobarometer 517
Future of Europe

QA9.2A  The visual elements we have just shown are part of the communication campaign to advertise the Conference on the
Future of Europe. Regardless of whether you have seen it or not, do you think the following statement applies well or
not to this visual? Please use a scale from 1 to 7 where 1 means "applies very well" and 7 means "does not apply
well at all".

This visual shows that the European Union is listening to its citizens VISUAL 1 (%)
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Special Eurobarometer 517
Future of Europe

QA9.1B  The visual elements we have just shown are part of the communication campaign to advertise the Conference on the
Future of Europe. Regardless of whether you have seen it or not, do you think the following statement applies well or
not to this visual? Please use a scale from 1 to 7 where 1 means "applies very well" and 7 means "does not apply
well at all".

This visual is appealing and makes people willing to participate in the Conference VISUAL 2 (%)
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Special Eurobarometer 517
Future of Europe

QA9.2B  The visual elements we have just shown are part of the communication campaign to advertise the Conference on the
Future of Europe. Regardless of whether you have seen it or not, do you think the following statement applies well or
not to this visual? Please use a scale from 1 to 7 where 1 means "applies very well" and 7 means "does not apply
well at all".

This visual shows that the European Union is listening to its citizens VISUAL 2 (%)
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Special Eurobarometer 517
Future of Europe

QA9.1C  The visual elements we have just shown are part of the communication campaign to advertise the Conference on the
Future of Europe. Regardless of whether you have seen it or not, do you think the following statement applies well or
not to this visual? Please use a scale from 1 to 7 where 1 means "applies very well" and 7 means "does not apply
well at all".

This visual is appealing and makes people willing to participate in the Conference VISUAL 3 (%)
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Special Eurobarometer 517
Future of Europe

QA9.2C  The visual elements we have just shown are part of the communication campaign to advertise the Conference on the
Future of Europe. Regardless of whether you have seen it or not, do you think the following statement applies well or
not to this visual? Please use a scale from 1 to 7 where 1 means "applies very well" and 7 means "does not apply
well at all".

This visual shows that the European Union is listening to its citizens VISUAL 3 (%)
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Special Eurobarometer 517
Future of Europe

QA9.1D  The visual elements we have just shown are part of the communication campaign to advertise the Conference on the
Future of Europe. Regardless of whether you have seen it or not, do you think the following statement applies well or
not to this visual? Please use a scale from 1 to 7 where 1 means "applies very well" and 7 means "does not apply
well at all".

This visual is appealing and makes people willing to participate in the Conference VISUAL 4 (%)
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Special Eurobarometer 517
Future of Europe

QA9.2D  The visual elements we have just shown are part of the communication campaign to advertise the Conference on the
Future of Europe. Regardless of whether you have seen it or not, do you think the following statement applies well or
not to this visual? Please use a scale from 1 to 7 where 1 means "applies very well" and 7 means "does not apply well at
all".

This visual shows that the European Union is listening to its citizens VISUAL 4 (%)
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Special Eurobarometer 517
Future of Europe

QA10.1 To what extent do you agree or disagree with the following statements about
the Conference on the Future of Europe:
The Conference represents significant progress for democracy within
the EU (%)
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Special Eurobarometer 517
Future of Europe

QA10.2 To what extent do you agree or disagree with the following statements about
the Conference on the Future of Europe:
The Conference will have no real impact, it will not change much (%)
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Special Eurobarometer 517
Future of Europe

QA11.1 Would you personally be willing to take part, as a citizen, in the activities of the
Conference on the Future of Europe in each of the following ways?
By taking part in meetings in your area, for example in citizens' debates or
assemblies (%)
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Special Eurobarometer 517
Future of Europe

QA11.2 Would you personally be willing to take part, as a citizen, in the activities of the
Conference on the Future of Europe in each of the following ways?
By taking part in such meetings in another EU Member State, as well as in
Brussels or Strasbourg (%)

©
©
!
[}
o
®
<
[®)
a
i)
+— -+ g —
> > 2 2 53
= 2 > > 2 O % 0 o)
= e} o) Q 5 4 c - zZ
&= o) © = c Z 7 >
(] = Q9 = o < +— — =
o ¥ < = O = = s &
¢ & = < £5 & & ¢
> > o o T a -
Z Z =
o
9]
E
°
c
(O]
©
>
e}
>
Eu27 B 9 19 29 39 2 2 28 68
BE i1 7 21 38 32 1 1 28 70
BG B 9 21 21 38 5 6 30 59
cz - 6 13 29 48 1 3 19 77
DK H— 3 11 30 50 3 3 14 80
DE | 5 16 37 38 2 2 21 75
EE | 4 13 28 44 5 6 17 72
|E i 11 20 28 35 2 4 31 63
EL = 7 16 22 54 1 0 23 76
ES = 7 10 25 52 3 3 17 77
FR B | 5 14 26 50 1 4 19 76
HR — 9 20 35 34 1 1 29 69
IT | 16 30 25 26 0 3 46 51
cy = 13 21 19 44 2 1 34 63
LV — 6 12 25 53 2 2 18 78
LT [ 6 14 25 52 1 2 20 77
LU o 7 18 32 38 2 3 25 70
HU — 8 15 24 51 1 1 23 75
MT * I} 5 17 30 45 1 2 22 75
NL — 3 15 36 44 1 1 18 80
AT — 8 20 22 46 2 2 28 68
PL [r— 16 26 27 26 4 1 42 53
PT Ea 12 21 30 26 5 6 33 56
RO i1 17 32 21 25 2 3 49 46
Sl [+ 5 14 22 50 8 1 19 72
SK 6 17 24 49 1 3 23 73
Fl e 3 12 52 33 0 0 15 85
SE e 9 13 36 40 1 1 22 76
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Future of Europe

QA11.3 Would you personally be willing to take part, as a citizen, in the activities of the
Conference on the Future of Europe in each of the following ways?
By taking part in online consultations, via discussion platforms (%)
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Special Eurobarometer 517
Future of Europe

QA11.4 Would you personally be willing to take part, as a citizen, in the activities of the
Conference on the Future of Europe in each of the following ways?
By answering a survey (face to face, telephone or online) (%)

(O]
©
O
()
©
©
e
O
@
9
- o @
> > 2 2 £ 4
3 Q > > 2 O g k% [e)
i 3 5 g £ S > z
% o 3 T 5% <z § =
© e o S S B = s £
g g = ©° £5 8 = =
> > [®) o 80_
prd prd L an
4]
)
k=
ks
C
()]
©
>
(@]
>_
EU27 @ 19 40 18 20 1 2 59 38
BE BB 21 47 19 12 1 0 68 31
BG mm 16 37 15 23 3 6 53 38
CZ bm 14 39 19 24 1 3 53 43
DK um 19 45 16 15 2 3 64 31
DE EE 20 42 20 14 2 2 62 34
FE 6 32 27 24 5 6 38 51
E BB 32 40 12 12 1 3 72 24
L E 16 48 17 19 0 0 64 36
ES == 18 35 17 26 2 2 53 43
R B 16 36 14 29 1 4 52 43
HR == 19 45 20 14 1 1 64 34
T BB 18 41 19 18 1 3 59 37
cY = 33 38 11 15 2 1 71 26
Ly == 10 28 18 40 2 2 38 58
LT 9 27 21 39 2 2 36 60
U ™= 26 37 15 18 1 3 63 33
HU == 17 37 19 26 0 1 54 45
MT I 21 57 12 7 1 2 78 19
NL == 31 48 10 9 1 1 79 19
AT == 20 38 19 20 1 2 58 39
PL o 18 38 20 20 3 1 56 40
PT Ell 13 38 22 18 4 5 51 40
RO B 24 38 19 16 1 2 62 35
SI Gm 13 27 22 31 6 1 40 53
SK 13 39 17 27 1 3 52 44
Il o= 16 51 27 6 0 0 67 33
SE Em 45 44 7 3 0 1 89 10
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Future of Europe

QA11.5 Would you personally be willing to take part, as a citizen, in the activities of the
Conference on the Future of Europe in each of the following ways?
By being active on online social networks (%)
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Future of Europe

QA11.6 Would you personally be willing to take part, as a citizen, in the activities of the
Conference on the Future of Europe in each of the following ways?
By putting forward your ideas and proposals to European and national
politicians (in person, by email, online, by post, etc.) (%)
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Future of Europe

QA11.7 Would you personally be willing to take part, as a citizen, in the activities of the
Conference on the Future of Europe in each of the following ways?
By taking part in European cultural and sports events linked to the Conference
on the Future of Europe (%)
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Future of Europe

Which of the following, if any, would encourage you to take part in the activities of the Conference on the

Future of Europe? (MULTIPLE ANSWERS POSSIBLE)
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Special Eurobarometer 517

Future of Europe

Which of the following, if any, would encourage you to take part in the activities of the

Conference on the Future of Europe? (MULTIPLE ANSWERS POSSIBLE)
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Special Eurobarometer 517

Future of Europe

What are the most important benefits of the younger generation’s

involvement in the Conference on the Future of Europe?

(MAX. 2 ANSWERS) (%)
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Special Eurobarometer 517
Future of Europe

QA14  The Conference on the Future of Europe is currently discussing a range of issues. Which of these topics do you think
are important for the Future of Europe? (MAX. 3 ANSWERS)
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Future of Europe

In your opinion, what are the main assets of the EU? Firstly?
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Special Eurobarometer 517

Future of Europe

In your opinion, what are the main assets of the EU? Firstly?
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Future of Europe

QA15b And secondly?
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QA15b And secondly?
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Future of Europe

In your opinion, what are the main assets of the EU? Firstly? And then?
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Special Eurobarometer 517

Future of Europe

In your opinion, what are the main assets of the EU? Firstly? And then?
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Special Eurobarometer 517
Future of Europe

QA16 And which of the following do you think are the main challenges for the EU? (MAX. 3

ANSWERS)
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Special Eurobarometer 517

Future of Europe

And which of the following do you think are the main challenges for the EU?

(MAX. 3 ANSWERS)
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Special Eurobarometer 517

Future of Europe

Which of the following do you think are the main global challenges for the future of the EU? (MAX. 3 ANSWERS)
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Special Eurobarometer 517

Future of Europe

Which of the following do you think are the main global challenges for the future of the EU? (MAX. 3 ANSWERS)
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Special Eurobarometer 517

Future of Europe

Which of the following would allow to make the most progress on these main

global challenges for the future of the EU?
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Special Eurobarometer 517

Future of Europe

QA19.1 To what extent do you agree or disagree with each of the following statements?

The European Union is a place of stability in a troubled world (%)
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Special Eurobarometer 517

Future of Europe

QA19.2 To what extent do you agree or disagree with each of the following statements?

Globalisation is an opportunity for economic growth (%)
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Special Eurobarometer 517

Future of Europe

QA19.3 To what extent do you agree or disagree with each of the following statements?

Globalisation threatens (OUR COUNTRY)'s identity (%)
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Special Eurobarometer 517

Future of Europe

QA19.4 To what extent do you agree or disagree with each of the following statements?

The European Union project offers a future perspective for Europe’s youth (%)
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Special Eurobarometer 517

Future of Europe

QA19.5 To what extent do you agree or disagree with each of the following statements?

The interests of people like you are well taken into account by the political system in (OUR COUNTRY) (%)
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Special Eurobarometer 517

Future of Europe

Which two of the following should be prioritised in order to face major global challenges? (MAX. 2 ANSWERS)

(%)
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Special Eurobarometer 517

Future of Europe

Which two of the following should be prioritised in order to face major global challenges? (MAX. 2 ANSWERS)

(%)
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Future of Europe

QA21.1 For each of these values, please tell if they are best embodied by the EU, by

other countries (or groups of countries) in the world or by both?

Respect for nature and the environment (%)
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Future of Europe

For each of these values, please tell if they are best embodied by the EU, by

other countries (or groups of countries) in the world or by both?

Social equality and solidarity (%)

QA21.2

Mou} },uog 1202 J2qopQ/Jaquardas

0202 19qWaAON/I20010 - | 202 190 0/taquaidas Jig
yiog
1202 49qop/laquisidas

0202 $2quanoN/18qor0 - 1Z0z 49qoPo/Iequiaides 1id

Pl1OM BU} Ul SB1IUNOD JBYIO

1202 Jaqop/saquialdas

0202 J9qWaAON/18GoIQ - L 202 12qo10/1aqwaidas ia

uoiun ueadoung ayy

1202 Jaqop/iaquialdas

35
36
50
30
25
30
34
42

11

-2

45

27

14
10
15

il 47

BE

16

BG
cz

-5

49

H 61

DK

53
38
45

DE

20

12
14

11

-30

EE

-15

IE
EL

50

31

11

32
47

13
15

M

ES
FR

23
39

47

12
15
13
10
14

50
42

-3

HR
IT

35

35

~
<

CINELE=an s
Ll

>
O

14
14

29
44
28
44
59
32
26
42

o
<

>
4

12

-10

-16
-10

O
o

=
—

[}
n

]
|

16

n
m

2
T

14

~
N

T
=

(2]
wn

—
P

11

21

N~
wn

[
<

<
o

—
[

11

53
32
23

<
oM

[
[a

-13

20
10

39
60

RO

Sl

-13

47
17
26

31
80
61

.

SK
Fl
SE
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Future of Europe

QA21.3 For each of these values, please tell if they are best embodied by the EU, by

other countries (or groups of countries) in the world or by both?

Peace (%)
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Special Eurobarometer 517

Future of Europe

QA21.4 For each of these values, please tell if they are best embodied by the EU, by

other countries (or groups of countries) in the world or by both?

Progress and innovation (%)
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Special Eurobarometer 517

Future of Europe

QA21.5 For each of these values, please tell if they are best embodied by the EU, by

other countries (or groups of countries) in the world or by both?

Freedom of opinion (%)
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Special Eurobarometer 517

Future of Europe

QA21.6 For each of these values, please tell if they are best embodied by the EU, by

other countries (or groups of countries) in the world or by both?

Tolerance and openness to others (%)
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Special Eurobarometer 517
Future of Europe
other countries (or groups of countries) in the world or by both?

QA21.7 For each of these values, please tell if they are best embodied by the EU, by
Respect for history and its lessons (%)
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Special Eurobarometer 517

Future of Europe

Which two of the following would you consider to be most helpful for the future of Europe? (MAX. 2 ANSWERS)

(%)
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Special Eurobarometer 517

Future of Europe

Which two of the following would you consider to be most helpful for the future of Europe? (MAX. 2 ANSWERS)

(%)

QA22
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Special Eurobarometer 517

Future of Europe

In your opinion, at what level can we deal with each of the following areas most efficiently?

Migration and refugees (%)
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Special Eurobarometer 517

Future of Europe

In your opinion, at what level can we deal with each of the following areas most efficiently?

Fighting terrorism (%)
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Special Eurobarometer 517
Future of Europe

QA23.3 Inyour opinion, at what level can we deal with each of the following areas most efficiently?
Employment and social protection (%)
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Special Eurobarometer 517

Future of Europe

QA23.4 Inyour opinion, at what level can we deal with each of the following areas most efficiently?

Energy policy (%)
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Special Eurobarometer 517

Future of Europe

QA23.5 Inyour opinion, at what level can we deal with each of the following areas most efficiently?

Environment and climate change (%)
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Special Eurobarometer 517

Future of Europe

QA23.6 Inyour opinion, at what level can we deal with each of the following areas most efficiently?

Consumer protection (%)

MOUY| 1,uoQg

AJuo [9A8] [RUONEU B} }Y

[9A3] |euoneu By 1e Ajuley

[9A9] euoneu sy} pue N3 ay3 e Ajjenb3

[2A3] N3 ay3 3e Ajutey

Aluo [pAs| N3 Y1 Iy

1202 12qop0/iaqweidas

0202 49qWiaAON/18GOI0 - L 20T 42qo10/4aqwiadas yia

1202 12qon/iaquisrdas

0202 J9qWiaAON/48GOI0 - L 20T 49q010/4aqwiaidas ia

1202 12qop/iaquierdas

0202 18qUIBAON/490O1Q - L 20T 129010/ 1aquiaidas Hia

1202 12qop/iaquierdas

0202 419GWIaAON/3GOR0 - 1202 J2q01R0/Iequiaidas Hia

1202 12qow/4aquisirdas

0202 J9qWiaAON/43GOI0 - L 20T 19q010/1aqwiaidas 4ia

1202 12qop0/iaquieirdas

19
13
24
21

50
51

15
19
10
14
23

EU27

BE

14

48

il

BG
cz
DK

44
40
43

-2

12
11
15

15
19
27
15
28

-2

19

50
55
53
64
Y|

11

-14

11

DE

EE

[5H]

—
[SN]

16
22

-
1

(%]
i

15
11
15
10

11

(o]
-

o
[

21

52

a4
T

16

57
73

=

cy

-2

10

21

44

o
-

19

11

49
46

12
18

<)
©

18
12
22

11

60
66
38

12
10
19

< oy

N ©W OO N~NITOM
= NN ™= AN ™M
—~ Y O Moe D

'

41
55
57
46
57
55
58
38

-3
3
5
4

-10
-1
-1
2

18
18
14
16
10
12
12
16

)
Qo ot on

man=m |41+

>
-

[}
—

UTL
T=Z=

= = 5 X T w
AD.D.MSSFS




Special Eurobarometer 517

Future of Europe

QA23.7 Inyour opinion, at what level can we deal with each of the following areas most efficiently?

Economy and growth (%)
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Future of Europe

QA23.8 Inyour opinion, at what level can we deal with each of the following areas most efficiently?

Agriculture and fisheries (%)
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QA23.9 Inyour opinion, at what level can we deal with each of the following areas most efficiently?

Foreign policy (%)
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Future of Europe

QA23.10 In your opinion, at what level can we deal with each of the following areas most efficiently?

Security and defence policy (%)
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QA23.11 In your opinion, at what level can we deal with each of the following areas most efficiently?

Health (%)
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Future of Europe

QA24.1 And in your opinion, at what level can we deal with each of the following areas most efficiently?

The digital transformation of the economy and of society (%)
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QA24.2 And in your opinion, at what level can we deal with each of the following areas most efficiently?

Gender equality (%)
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QA24.3 And inyour opinion, at what level can we deal with each of the following areas most efficiently?

Taxation (%)
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QA24.4 And inyour opinion, at what level can we deal with each of the following areas most efficiently?

Research and development (%)
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QA24.5 And inyour opinion, at what level can we deal with each of the following areas most efficiently?

Education and training (%)
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Special Eurobarometer 517
Future of Europe

QA24.6 And in your opinion, at what level can we deal with each of the
following areas most efficiently?
The protection of minorities (%)
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Special Eurobarometer 517

Future of Europe

Taking a longer view, if you picture the EU you would like to see in ten years from now, would

you prefer? An EU with...
(%)
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Special Eurobarometer 517
Future of Europe

QA26.1 Please tell how important or not important each of the following objective are,
for you personally.
Making Europe the world’s first climate-neutral continent by 2050. (%)
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Special Eurobarometer 517
Future of Europe

QA26.2 Please tell how important or not important each of the following objective are,
for you personally.
Increase the share of renewable energy in the European economy and
have greater energy efficiency to reduce greenhouse gas emissions. (%)
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Special Eurobarometer 517
Future of Europe

QA26.3 Please tell how important or not important each of the following objective are,
for you personally.
Promoting the growth of the zero- and low- emissions vehicles market
in order to cut transport emissions. (%)
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Special Eurobarometer 517
Future of Europe

QA26.4 Please tell how important or not important each of the following objective are,
for you personally.
Restoring Europe’s forests, soils, wetlands and peatlands to increase the
absorption of CO2 pollution, making our environment more resilient to
climate change. (%)
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Special Eurobarometer 517
Future of Europe

QA26.5 Please tell how important or not important each of the following objective are,
for you personally.
Renovating buildings to use more renewable energy and to be more
energy efficient. (%)
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Special Eurobarometer 517
Future of Europe

QA27.1 To what extent do you agree or disagree with each of the following statements?
Tackling climate change can create new opportunities for innovation,
investment and jobs (%)
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Special Eurobarometer 517
Future of Europe

QA27.2 To what extent do you agree or disagree with each of the following statements?
Tackling climate change can help improve your own health and well-

being (%)
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Special Eurobarometer 517
Future of Europe

QA27.3 To what extent do you agree or disagree with each of the following statements?
Tackling climate change can harm our economy (%)
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Special Eurobarometer 517
Future of Europe

QA27.4 To what extent do you agree or disagree with each of the following statements?
Tackling climate change now can help to reduce the costs of greater
ecological damage in the future (%)
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Special Eurobarometer 517

Future of Europe

Let's now talk about your own hopes not your predictions for the future. In 2030, in the European

QA28

Union, would you prefer a society where more importance is given to solidarity, or to

individualism? (%)
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Special Eurobarometer 517

Future of Europe

And in 2030, in the European Union, would you prefer a society where more importance is given

QA29

to order, or to individual freedom?
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Special Eurobarometer 517

Future of Europe

QA30.1 Please tell to what extent you agree or disagree with each of the following statements.

You are happy with your family life (%)
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Special Eurobarometer 517

Future of Europe

QA30.2 Please tell to what extent you agree or disagree with each of the following statements.

You are happy with your current occupation (%)
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QA30.3 Please tell to what extent you agree or disagree with each of the following statements.

You are happy living in OUR COUNTRY (%)
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Future of Europe

QA30.4 Please tell to what extent you agree or disagree with each of the following statements.

You are happy living in the EU (%)
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Which of the following statements regarding the European Union is closest to your opinion?
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Generally speaking, do you think that (OUR COUNTRY)'s membership of the

EUis..?
(%)
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In general, does the EU conjure up for you a very positive, fairly positive, neutral, fairly negative or very negative image?
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